mE=

S AL

1128 FEREENAE

EF511206256955%

ER”E: 113.01.22 09:00 ~ 113.01.22 12:00

IEERAZ: 0

IBR

1

10

11

12

13

14

15

16

= oo

BEEB

Wi =%
BEERR
INER
i =%
BEEHE
INEE
Wi =%
BEERR
JINER
i =%
BEEHE
INER
$ih==
ZBEER
INE&
i =%
BEERE
INEE
$ih==
BEEFR
JINER
Fith==
2EEER
INER
Wibm—=—%¥
BEEFR
JINER
Fih==
2EEER
INER
Wibm—=—%¥
BEEFR
JINER
Fih==
2EEER
INER
Wibm—=—%¥
BEEFR
JINER
Fih==
2EEER
INEE
$ith==
ZBEER
INE&
i =%
BEEHE
INEE

BIAR : 0

BE%Z

RAER

(2334

8=

SRR

F BUREH

g

%

%1

113/01/22 10:04

113/01/22 10:07

113/01/22 09:56

113/01/22 10:02

113/01/22 10:10

113/01/22 10:06

113/01/22 10:07

113/01/22 10:08

113/01/22 10:03

113/01/22 09:56

113/01/22 09:58

113/01/22 10:00

113/01/22 10:03

113/01/22 09:59

113/01/22 10:04

113/01/22 09:57

1IEMZE

SIEDHEA: 113/02/05 11:34



17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

i =%
BEERHE
INES
itm=%
REEHRE
INE&
#iith =%
SBEER
INES
itm=%
BEEHRE
INE&
#iith =%
2EEER
INES
itm=%
BEEHRE
INE&
#iith =%
2EEER
INES
itm=%
REEHRE
INE&
#iith =%
2EEER
INES
itm=%
BEEHRE
INER
i =%
BEERHE
INER
il ==
BEZER
INE&
i =%
BEERHE
INER
il ==
ZBEER
INE&
i =%
BEERHE
INER
==
BEZER
INE&
i =%
BEERHE
INER
==
BEZER
INE&
i =%
BEERHE
INER
=2
ZBEER
INE&

it

%@

4

Ot

m;
et

If
R
il

FoiE

=mZ

w19

/]

FER

113/01/22 10:

113/01/22 12:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 09:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 10:

03

16

09

03

11

00

06

59

35

02

58

58

06

06

59

09

03

04

57

05



37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

i =%
BEEHE
INES
itm=%
REEHRE
INE&
#iith =%
SBEER
INES
itm=%
BEEHRE
INE&
#iith =%
2EEER
INES
itm=%
BEEHRE
INE&
#iith =%
2EEER
INES
itm=%
REEHRE
INE&
#iith =%
2EEER
INES
itm=%
BEEHRE
INE&
i =%
BEERHE
INES
==
BEZER
INE&
i =%
BEEHE
INES
==
ZBEER
INE&
i =%
BEEHE
INES
==
BEZER
INE&
i =%
BEEHE
INES
==
BEZER
INE&
i =%
BEEHE
INES
==
ZBEER
INE&

FHE

FEH%

X

e

=R

MEER

MBIE

MEE

VAR

MONFR

M=

MZE

o

Mgz

Min e

MFER

ME#

ot
&

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 09:

113/01/22 09:

113/01/22 10:

113/01/22 09:

113/01/22 09:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 11:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 09:

04

08

10

01

09

55

58

57

13

58

56

07

13

01

14

09

05

02

57

58



57

58

59

60

61

62

63

64

65

66

67

68

69

70

71

72

73

74

75

76

i =%
BEERHE
INES
itm=%
REEHRE
INE&
#iibh =%
SBEER
INES
itm=%
BEEHRE
INE&
#iibh =%
2EEER
INES
itm=%
BEEHRE
INE&
#iibh =%
2EEER
INES
itm=%
REEHRE
INE&
#iibh =%
2EEER
INES
itm=%
BEEHRE
INE&
i =%
BEERHE
INES
il ==
BEZER
INE&
i =%
BEERHE
INES
il ==
ZLEER
INE&
i =%
BEERHE
INES
il ==
BEZER
INE&
i =%
BEERHE
INES
il ==
BEZER
INE&
i =%
BEERHE
INES
il =2
ZLEER
INE&

1ZHER

B £ 5w

2 BF BF

TLImFR

HHEH

S opt

NI
pid e

BB

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 09:

113/01/22 09:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 09:

04

00

59

58

56

00

07

10

11

03

11

01

14

00

11

07

09

06

12

59



77

78

79

80

81

82

83

84

85

86

87

88

89

90

91

92

93

94

95

96

i =%
BEERHE
INES
itm=%
REEHRE
INE&
#iibh =%
SBEER
INES
itm=%
BEEHRE
INE&
#iibh =%
2EEER
INES
itm=%
BEEHRE
INE&
#iibh =%
2EEER
INES
itm=%
REEHRE
INE&
#iibh =%
2EEER
INES
itm=%
BEEHRE
INE&
i =%
BEERHE
INES
il ==
BEZER
INE&
i =%
BEERHE
INES
il ==
ZLEER
INE&
i =%
BEERHE
INES
il ==
BEZER
INE&
i =%
BEERHE
INES
il ==
BEZER
INE&
i =%
BEERHE
INES
il =2
ZLEER
INE&

Ty
At /b\/ﬁ

oA

= ﬁ%

BEW

=R

3
B
=y
-

i
m
i

i
il
Bt

i
i
t

FRARFN

e

il
=t

HARE

HIRE

BRF 1A

EXE@

EEE

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 09:

113/01/22 09:

113/01/22 09:

113/01/22 13:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 10:

113/01/22 10:

113/01/22 12:

02

04

01

55

59

54

58

55

08

09

55

09

05

54

10

12

52

05

07

15



97

98

99

100

101

102

103

104

105

106

107

108

109

110

111

112

113

114

115

116

i =%
BEERHE
INES
itm=%
REEHRE
INE&
#iibh =%
SBEER
INES
itm=%
BEEHRE
INE&
#iitH =%
2EEER
INES
itm=%
BEEHRE
INE&
#iith =%
2EEER
INES
itm=%
REEHRE
INE&
#iith =%
2EEER
INES
itm=%
BEEHRE
INE&
i =%
BEERHE
INES
=2
BEZER
INE&
i =%
BEERHE
JNES
=2
ZBEER
INEE
i =%
BEEHE
JNES
=2
BEZER
INEE
i =%
BEEHE
JNES
=2
BEZER
INEE
i =%
BEEHE
JNES
=2
ZBEER
INEE

ERRE L

ERREYE

FOIALE

Fh& AT

RN

AR

m
=
il

BRAE

BRERT

BRI

B2

BRia 1

BRE& fr

BRIEYE

BRAE

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 09:

113/01/22 10:

113/01/22 09:

113/01/22 10:

113/01/22 09:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

33

12

10

10

59

59

04

56

16

55

06

00

05

58

07

00

01

00



117

118

119

120

121

122

123

124

125

126

127

128

129

130

131

132

133

134

135

i =%
BEEHE
INES
itm=%
BREERR
INE&
#iitH =3
2EEER
INER
itm=%
BEERRK
INE&
#iitH =3
2EEER
INER
itm=%
BEERRK
INE&
#iitH =3
2EEER
INER
itm=%
BREERR
INE&
#iitH =3
SBEER
INER
itm=%
BEERRK
INE&
#iitH =3
2EEER
INER
itm=%
BEERRK
INE&
#iitH =3
2EEER
IN\EB
itm=%
BREERR
INEE
i =%
BEEHE
INES
==
BEZER
INEE
i =%
BEEHE
JNES
==
BEZER
INEE
i =%
BEEHE
JNES

VI
]

I

M

ot
I

B

i
B3
\;Ig

\|
1

A

\
Il

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 09:

113/01/22 10:

113/01/22 09:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 09:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 10:

113/01/22 11:

05

55

08

11

08

56

59

06

57

45

05

16

59

02

07

03

02

01

14



